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Let pmcn) denote the number of partitions
of n into Sm parts .

Then
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Macmahon 's idea : Introduce new variables
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Define an operator I applied to any
multiple Laurent serif which annihilates
terms with negative exponents of ti 's
and sets the fi 's in the remaining to be 1 ,
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Thm Ipmcmgt-cq.f-qm.tn= 0

Proof : From the above discussion
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Use Lemma 26 with ✗ being ✗
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Thm.29_ Let ACN = number of incongruent
triangles of perimeter in & integral sides .
Then show that

I dcmq^ = q
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Note that the RHS is the g.fr of acn ?
where acn) = # of ptns - ofn into 2's

,3 's & 4 's with at least one three .
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Use Lemma 26 with A = ✗ ,
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